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1 | [zoom] 1A (elementary) *& 24A|Zt (3/8-4/14) (E) ol/= 08:00~10:00 | John Edward Chung [ 15 | 153,000
2 | [zoom] 2A (pre-intermediate) *& 12A| 7t (3/8-4/14) (E) (L) 2t/5 09:00~10:00 & 2lot 15 | 77,000
3 | [zoom] 3A (intermediate) *& 18A|7t (3/7-4/18) (3/9 {4 4/18 E&) (E) (L) H/F/E 09:00~10:00 = oot 15 | 115,000
4 | [zoom] 4-5A *& 24A|7H3/11-4/20) (E) (L) =/= 08:00~10:00 | John Edward Chung | 15 [ 153,000
5 | [zoom] @&E0| 223t Sentence Skills A *3& 20A1Zt (3/7-4/11) g/ 18:30~20:30 st 10 | 142,000
6 | [zoom] YEE0| 23 Sentence Skills B *& 20A| 7t (3/8-4/7) al/= 18:00~20:00 o|elot 10 | 142,000
7 | [zoom] EO{&=2 = H (Research Paper Writing) A *Z& 24A|Zt (3/7-4/11) (3/9 & /5 09:00~11:25 o|Qlot 10 | 170,000
8 | [zoom] B0l =& = (Research Paper Writing) B *& 18A|Zt (3/11-4/15) = 09:00~12:00 o|lot 10 | 128,000
9 | [zoom] BEZ JHQIE HES=Q *F 24A|7H3/7-4/10) null 00:00~00:00 o224 10 | 170,000
10 | [zoom] CNN News Listening and Pronunciation B *Z12A[Z} (3/11-4/15) = 10:00~12:00 2 of 15 | 77,000
11 | [zoom] CNN News Listening and Pronunciation A *Z 15A|Z} (3/8-4/14) = 09:00~10:15 8+ off 15 | 96,000
12 | [zoom] ¥ M2t {Factfulness} *& 8A|Zt (3/8-3/29) =} 18:30~20:30 ot2d 15 | 51,000
13 | [zoom] &M 2H=: Yuval HarariQ| {Sapiens} *& 12A|Zt (3/10-4/14) = 18:30~20:30 o224 15 | 77,000
14 | [zoom] O| = BHF2A *F 1242t (3/8-4/14) 2t/= 12:00~13:00 = olot 15 | 77,000
1 | [zoom] 2|ZHE 91T Y20 LE1 (1THA) *B 24A[2F (3/7~4/14) d/et/5 09:30~10:50 B 15 | 145,000
2 | [zoom] 2|2HE flTt 2O ZF13EHA) *E 2442t (3/11~4/20) /3 19:00~21:00 | KOMATSU YOSHITAKA | 15 | 145,000
3 | [zoom] 2IZHE Tt LE20] SE1 (GEHA) *& 2442t (3/7~4/14) /= 19:00~21:00 | KOMATSU YOSHITAKA [ 15 | 145,000




zztd 2y Azt A el | +28
4 | [zoom] 2|2E 2Tt Y20 F53 (7TEHA) *E 2447t (3/8~4/14) 35 18:00~20:00 gt 15 | 145,000
5 | [zoom] 20|12 10 USt= L= E2H2) *T 21A|7F (3/10~4/8) T/=/a 07:30~09:00 | KOMATSU YOSHITAKA [ 15 | 127,000
6 | [zoom] Y20 X5 Fl1 *24A|Zt (3/7~4/18) 3/9 TY) o/ 18:00~20:00 aha) 15 | 145,000
7 | [zoom] Y20 AA ZE D= & S5 < 12A2t (3/11~4/15) = 09:00~11:00 | KOMATSU YOSHITAKA | 15 | 73,000
8 | [zoom] JLPT N1 A|& CHH| 2 2| *& 24A17F (3/11~5/20) (4/15, 4/22 R ) = 16:10~18:50 | KOMATSU YOSHITAKA | 15 | 145,000
9 | [zoom] 2|ZHE BT YE 1 *F 24A7F (3/8~4/14)) 2t/= 09:00~11:00 s8d 15 | 145,000
10 | [zoom] 2|2HE RITHE=R0 =5 1 *F 24A|2t (3/7~4/13) o/ 09:00~11:00 =g 15 | 145,000
11 | [zoom] 2IZHE YBHE 0 T3 4-1 *F 24A|2t (3/7~4/18) 3/9 &) 2/ 09:00~11:00 553 15 | 145,000
12 | [zoom] 2[2tE YIS0 & 4-3 *F 242t (3/7~4/13) o/ 18:30~20:30 =g 15 | 145,000
13 | [zoom] 2|2HE QUTt SO YE *F 24AI2F (3/7-4/13) o/ 09:00~11:00 Zojz 15 | 145,000
14 | [zoom]2|2tE 2T S YO g *& 24A[2t (3/7-4/13) o/ 19:00~21:00 o2 15 | 145,000
15 | [zoom] 2|2HE RUTt SLO| B2 1 *E 2442t (3/7-4/13) =l 15:00~17:00 Zojz 15 | 145,000
16 | [zoom] S L0 2, 013|Q S8} 5 *& 24|27t (3/8-4/14) =H/5 19:00~21:00 Zoj2 15 | 145,000
17 | [zoom] ZZHA0 Y& *& 2247t (3/11-4/15) /g 08:30~10:30 Desandre Helene 15 | 133,000
18 | [zoom] ZH AN X7 2 *F 24A|7t (3/7-4/14) /5 08:30~10:30 Desandre Helene 15 | 145,000
19 | [zoom] ZEHAOQ 103 1 *5F 24|72t (3/7-4/14) 2/5 18:00~20:00 Desandre Helene 15 | 145,000
20 | [zoom] DELF A2 Al ZEH|gt *& 12A|2t (3/8-4/12) 2t 08:30~10:30 Desandre Helene 15 73,000
21 | [zoom] 3]3S 2|3t 2{A|OF0] /2 (1THA) *F 24A|Zt (3/7-4/18) (3/9 B& 4/18 & &/+/2 09:00~10:20 UdzLt 15 | 145,000
22 | [zoom] 2{A|OtO] B (3EHAl) *& 2412t (3/7-4/14) /5 17:00~19:00 BA Lt 15 | 145,000
23 | [zoom] AJAL 2{A|OLO] (4EHA) *& 24|12t (3/8-4/15) /= 16:00~18:00 UdzLt 15 | 145,000
24 | [zoom] Z2|2HE QlTt AL{|QI0] |E *F 18AI2t (3/8-4/14) ol/= 18:00~19:30 E4F(Silvia) 15 | 110,000
25 | [zoom] 3|3 23t AH| Q10 £F 1 *& 18AIZt (3/7-4/13) 2/ 09:30~11:00 2YF(Silvia) 15 | 110,000
26 | [zoom] DELE B2 (Z5}7], £7|) *& 18AZt (3/7-4/13) /5 16:00~17:30 g F(Silvia) 15 | 110,000
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